Daniel removes 72 blocks from a jar. There
were originally 84 blocks in the jar. How
many blocks are left in the jar?

Billy has 95 stickers. He shares 4 with
Harry. How many stickers will Billy have?

Jason starts with 49 crayons. Joshua takes
42 away. How many crayons does Jason end
with?

Randy has 63 stickers. He loses 15. How
many stickers will Randy have?

Lawrence has 80 Skittles. He buys 6 more.
How many Skittles does Lawrence have in
all?
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84 blocks - 72 blocks = 12 blocks

95 stickers - 4 stickers = 91
stickers

49 crayons - 42 crayons = 7 crayons

63 stickers - 15 stickers = 48
stickers

80 Skittles + 6 Skittles = 86
Skittles




